
IG900−6A, 31

Farbmetrische Transformation i = 2
c*i  = c*2  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*2



IG900−6A, 32

Farbmetrische Transformation i = 2
c*i  = c*2  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*2



IG900−6A, 33

Farbmetrische Transformation i = 2
c*i  = c*2  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*2



IG900−6A, 34

Farbmetrische Transformation i = 2
c*i  = c*2  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*2



IG900−6A, 35

Farbmetrische Transformation i = 2
c*i  = c*2  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*2



IG900−6A, 36

Farbmetrische Transformation i = 2
c*i  = c*2  = a c*b mit a = 1,00; b = 0,50

rgb −> rgb* rgb* −> rgb*2


